
Name: LösungsschlüsselBestimmung des Variablenwerts zu Gleichgewichtsgleichungen

Mathe www.CommonCoreSheets.de
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

Antworten

1. 10

2. 8

3. 4

4. 8

5. 5

6. 3

7. 5

8. 4

9. 5

10. 8

11. 5

12. 10

Finden Sie den Wert von x.

1) 67 - 1x = -11x + 167

10x = 100

x = 10

2) 54 + 2x = 86 - 2x

4x = 32

x = 8

3) 74 + 4x = 86 + 1x

3x = 12

x = 4

4) 4x + -8 = -4x + 56

8x = 64

x = 8

5) -3x + 46 = -13x + 96

10x = 50

x = 5

6) -1x + 25 = -6x + 40

5x = 15

x = 3

7) -5x + 59 = -8x + 74

3x = 15

x = 5

8) 6 + 5x = 18 + 2x

3x = 12

x = 4

9) 69 + -2x = -9x + 104

7x = 35

x = 5

10) 36 + 1x = 52 + -1x

2x = 16

x = 8

11) -3x + 67 = -7x + 87

4x = 20

x = 5

12) -3x + 66 = 86 + -5x

2x = 20

x = 10
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Finden Sie den Wert von x.

5 8 5 8 8

3 4 4 5 10
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Antworten

1. 10

2. 8

3. 4

4. 8

5. 5

6. 3

7. 5

8. 4

9. 5

10. 8

1-10 90 80 70 60 50 40 30 20 10 0
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